A - 545

Seat
No.

Total No. of Pages : 4

B. A. (Part - I1) (Semester - IV) Examination, December - 2015
TRADITIONAL LOGIC (1.D.S.) (Paper - II) (New)

Deductive Logic
Sub. Code : 62323

Day and Date : Wednesday, 16 - 12 - 2015 Total Marks : 50
Time : 12.00 noon. to 02.00 p.m.

Instructions: 1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Complete the following sentences by choosing correct alternatives. [10]
1) The conclusion in inference by analogy is
a) Certainly true b) Probably true
c) False d) None of these
) Cause is to the effect.
a) Remote b) Near
c) Middle d) None of these
1i1) is the first step in scientific induction.
a) Formation of problem b) Explanation
c) Verification d) Fact
1v) is the tentative supposition made for the explanation of the
natural events.
a) Verification b) Proof
b) Hypothesis d)  None of these
v)  Non-observation is the fallacy of

a)  Observation b)  Experiment

c) Hypothesis d) Induction
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Vi) can be repeated as many times as we desire.
a)  Experiment b) Observation
¢) Law d) None of these
vi)) A hypothesis must be B
a) Self consistent b)  Self contradictory
¢) Tentative d) None of these

viii) Laws of state are

a) Compulsory b) Natural
¢) Normative d) Optional
ixX) There are kinds of explanation. .
a) Two b) Three Tt -
c) Four d) Five .
x) Law of succession is a law.
a) Primary - b) Secondary - p
c) Postulate d) None of these -
Q2) Write short answers of following questions (any four): [20] .
a) Inference by analogy
b) Stages of scientific induction "

c) Law of uniformity of nature

d) Advantages of experiment
e) Types of natural laws

f)  Subsumption

03) Answer the following questions fully. (any two) [20]
a) Explainthe characteristics of scientific observation.
b) Explainthe conditions of valid hypothesis.

¢) Explain the laws of statc.



1)
® \:‘5
£Y i)
B 3
s
1v)
& B
a6 ' v)
Vi)

A -545

[10]
SUSICRISICICAT I SR araa
) fiveaa= q)  HE T
®) I[A ) gid AR
HRUT R HEEA ... T
H) A q) wHw
%) wead g) AR @
............... {1 vea farmeeht ufged ued B
H) EEEREH q) TSR
&) e ) aA

wmmmmmmmm ...... 4.

#)  ufed a) g
&) FITW SE LR
ARREATTET o, AN 3R

) fafemo q)  wEm
#) fogumawea g) fomm
................. TR TN FTHTAR GG el A

)  gEm ) fftem
%) fom T) AR TR



A -545

NV IRECOIEToe IR 1) DU JraTe
) gE™ a) faem
F) FHIAS 3) I T
viill) TR R T
) HHN a) Fifafda
®) INEVIcHh 3) Ufeow
IX) TSRO ..., TR UEdTd.
A) MW q)  dA
F) =R ) UN
X) SHHEd REEE ..., R
H) WUl q) W
%) Tiedad T) I A
9.2) Welte T9ATEt AT S ol (I =m) [20]
H) HEEHEA

>

q) YT FmETeE stawen
%) riamega= aa
) YO EER

3) Foifamm T

%) HHEYH

9.3) Wieitel TgATe afarat I forgr. (Roed 3m) [20]
) Ve ARl St e e,
7) freu@wcT=n @ @ e .

%) vy faw me .

QOO

_4-





{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

